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50cm 0.05 0.05 0.06 0.05 0.06 0.05
1227| #AE™ RER HIEEREE 98118
1m 0.04 0.05 0.06 0.05 0.05 0.05
50cm 0.06 0.06 0.06 0.06 0.06 0.07
1228 #HAET RER HERER 98138
1m 0.06 0.06 0.06 0.06 0.06 0.06
50 0.06 0.08 0.06 0.06 0.06 0.06
1220| @B BEE SopBrRER 9138
1m 0.06 0.07 0.05 0.05 0.05 0.06
- S _, 50cm 0.07 0.06 0.06 0.07 0.07 0.06 N “
1200| taE REE PHREREE 9A14E [IEFT] Nol2412& Y hiEE L3t
1m 0.07 0.07 0.07 0.07 0.07 0.07
= = Ny 50cm 0.06 0.09 0.08 0.11
1281 famH gam  ([BRVLLAERGORREAST ] 0g10p [ e EAES ] HL
2 - H 1m 0.07 0.08 0.09 0.10
50cm 0.08 0.09 0.08 0.07 0.08 0.08
1232 HAETN RER AONRIVCIIVGRERFSZFE 98138
1m 0.08 0.08 0.07 0.07 0.07 0.07
50cm 0.06 0.06 0.07
1233 HAET RER IXKIDSZEF5FE 98128 iRt S
1m 0.06 0.06 0.07
- i L R e e o ~fn 50cm 0.05 0.05 0.05
1234| HAE® REE %A{_%ijuunﬁﬁxﬂxWﬁﬁFﬁr&&L\ 9H138 49
B 1m 0.05 0.05 0.05
50 0.05 0.05 0.06 0.06 0.05 0.05
1295| 1A S HERTATHRE 0R128 |
1m 0.05 0.04 0.05 0.05 0.05 0.05
50cm 0.07 0.08 0.08 0.08 0.07 0.07
1206| 1A S HEH RS HHE 9A18H
1m 0.09 0.08 0.08 0.07 0.07 0.07
50 0.07 0.06 0.05 0.07 0.06 i S E R s TR A 4
1237| faEm HHE BB B A 9B 188 [—0 LT P B REERE L RLI=6
1m 0.07 0.05 0.06 0.07 0.06
50 0.06 0.05 0.07 0.06 0.07 0.07
1238 BEH SHE BT\ EHRE 0R14E |
1m 0.06 0.06 0.07 0.06 0.07 0.07
50cm 0.05 0.05 0.07 0.07 0.06 0.06
1239 | #HHET R it 4 B 98138
1m 0.06 0.05 0.07 0.07 0.06 0.06
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50cm 0.06 0.05 0.07 0.05 005 = = 3| T AR A _
1240| HABTH YRE  |FEyRE 9 11E TR B REERE R
im 0.06 0.05 0.06 0.06 0.05~
. 50cm 0.07 0.06 0.06 0.06 0.06 0.06
1241 ARH HtE #HEYHRE 9A148 [EFM] Not23orh B REEL AR
im 0.07 0.07 0.06 0.06 0.06 0.06
50cm 0.07 0.05 0.07 0.07 0.06 0.06
1242| fATH MR [EETIABAELR 9F 128
im 0.08 0.06 0.07 0.06 0.06 0.06
. . 50cm 0.07 0.08 0.07 0.07 0.07 0.08
1243| fARTH MR EEMIEHE— R 9F 148
im 0.08 0.08 0.07 0.07 0.07 0.07
. . 50cm 0.07 0.07 0.08 0.08 0.06 0.07
1244| fATH MR REMIEHES AR 9 11E
im 0.07 0.06 0.08 0.08 0.07 0.07
50cm 0.07 0.07 0.06 0.07 0.07 0.07
1245 A& INERR BETIRE /PR 9A 18R
im 0.08 0.07 0.06 0.07 0.07 0.07
50cm 0.07 0.07 0.08 0.08 0.06 0.07
1246 | fARTH MR [EBTIEENER 9F 138
im 0.08 0.07 0.09 0.08 0.06 0.07
50cm 0.08 0.07 0.08 0.08 0.07 0.06
1247 #AEBH INERR METILIL B/ 9R 148
im 0.08 0.07 0.09 0.08 0.07 0.06
. . 50cm 0.07 0.04 0.06 0.06 0.06 0.05
1248| fARTH MR [ERTIEENER 9F 188
im 0.07 0.05 0.07 0.06 0.06 0.05
. . 50cm 0.06 0.06 0.07 0.07 0.08 0.07
1249 fARTH MR [EEmIEIANER 9F 188
im 0.06 0.07 0.07 0.06 0.08 0.07
. . 50cm 0.08 0.06 0.07 0.07 0.06 0.06
1250| A MR [EBTIABNER 9F 148
im 0.08 0.07 0.07 0.06 0.06 0.06
. . 50cm 0.07 0.08 0.06 0.07 0.07 0.10
1251| famH bl (EETmIBHE— R 97128
1m 0.07 0.08 0.06 0.07 0.06 0.10
. N . 50cm 0.06 0.06 0.07 0.07 0.07 0.07
1252| fam bl (EETmIBHE R 9 11A
1m 0.06 0.06 0.06 0.06 0.07 0.07
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1m 0.10 0.11 0.08 0.07 0.09 0.09
o o 50cm 0.09 0.09 0.08 0.08 0.08 0.07
1257| #E™ BAXERR |[HAEXEER 98128
1m 0.09 0.09 0.09 0.08 0.08 0.07
) 50cm 0.09 0.07 0.08 0.08 N
1258 | #E™H HEER HESEEMZR 98128 [#E-BEES] 8L
1m 0.08 0.08 0.08 0.07
. 50cm 0.10 0.10 0.09 0.09 0.10 0.10
1259 | FEtEHET HREE FOIXREREE R 9A13H
1m 0.10 0.09 0.09 0.09 0.10 0.10
. 50cm 0.08 0.07 0.07 0.07 0.07 0.07
1260 | FEtEHET HREE FOIXRER 98138
1m 0.07 0.07 0.06 0.07 0.07 0.07
- 50cm 0.09 0.10 0.09 0.08 0.08 0.08
1261| FEtEHET HREE FOFEREEREEE 9828H
1m 0.11 0.11 0.09 0.10 0.08 0.08
_ 50cm 0.08 0.08 0.07 0.06 0.07 0.06
1262 | FEHEET HREE LETRERT 9A13H
1m 0.07 0.07 0.06 0.05 0.07 0.06
50cm 0.07 0.06 0.07 0.06 0.06 0.06|
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1m 0.07 0.06 0.06 0.06 0.06 0.06
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50cm 0.06 0.06|
[#%E-BES] HAEE
1m 0.06 0.06
50cm 0.08 0.07 0.07 0.07 0.07 0.06
1264 | FEHEE™ HREE hHEDREER 98198
1m 0.07 0.07 0.07 0.07 0.07 0.06

3/9




EEEEREMERE=2) VB EREE 120D ER
(ERK30E8A30H~11H8HE)

RF N EE B0 RAED (RUHRYD
BERKEAEARR (RFHYD

AEEE R EE A E 4 Sv/h)
- RE RS
No. | vhATH =4 SR B T BE | S0om EF] haia (ch - BB OD T 1) i
im 5@ | #1@E [ 2@ [ ®@ | 4@ | 1@
REHER | AEHER | AERR | AERR | AEER | AEHER
o 50cm 0.12 0.10 0.09 0.08 0.12 [ 4% -BEIEZ ] ErEig
1265| FEHAEMT BREE SRFUEDLY 98208 oyl = — y
R 50cm 0.07 0.08 0.08 0.07 .
1266 | FEHEET HREE ZELDOR(HRDR) 9825H [®RE-BEEEF] £L
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. R 50cm 0.07 0.06 0.08 0.07 0.07 0.06
1272| ST CELE RETEEC L4 9A25H
im 0.07 0.07 0.07 0.07 0.08 0.06
50cm 0.07 0.05 0.09 0.06 0.05|f = = _+
1273| FAEE® YRE  |ERETIETHRE 9F 208 TR B REERE R
im 0.08 0.06 0.07 0.07 0.05|"*
50cm 0.08 0.07 0.07 0.05 0.06 0.05
1274| ST HHE RS S AE Y 9A 268
im 0.07 0.08 0.06 0.05 0.06 0.05
o 50cm 0.07 0.05 0.06 0.06 0.06 0.06 o .
1275| ST HHE i S i UR A 9A19E [IEFT] No1289RAR B T2/ R/INSEH & 2t
im 0.06 0.05 0.06 0.06 0.06 0.06
50cm 0.07 0.05 0.07 0.07 0.06|f = = _+
1276 | FAERm YRE  |[ERETIEBGRE 9208 TR EREERE R
im 0.06 0.06 0.08 0.07 0.07\"~
50cm 0.07 0.08 0.07 0.07 0.07 0.07
1277| ST YA A T E B 9A19H
im 0.08 0.07 0.06 0.06 0.07 0.06
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im 0.08 0.08 0.07 0.07 0.09 0.08
50cm 0.07 0.08 0.08 0.09 0.08 0.08
1279| EHER wRE  [SPouyRE 97258
im 0.08 0.08 0.08 0.08 0.08 0.08
50cm 0.08 0.07 0.07 0.07 0.08 0.08
1280 | FAAETH YRE  |REsLAHRE 97258
im 0.08 0.08 0.08 0.07 0.08 0.08
50cm 0.09 0.10 0.09 0.09 0.08 0.07
1281 FAAET MR [EEEmILREE— R 97138
im 0.09 0.09 0.09 0.09 0.07 0.08
50cm 0.09 0.09 0.09 0.09 0.07 0.07
1282 | FAAETH MR [EEETHIEEET R 97258
m 0.09 0.09 0.10 0.10 0.07 0.07
50cm 0.08 0.08 0.09 0.07 007 = = .
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1284| FEABRT Mg [ERERIETER 9F 208 TR B REERE R
im 0.09 0.07 0.09 0.07 0.05~
50cm 0.07 0.07 0.07 0.06 0.06 0.06
1285 | FEIAEE INERR PRI KB/ PR 9A 268
im 0.07 0.07 0.07 0.06 0.06 0.06
. . 50cm 0.09 0.08 0.09 0.08 0.08 0.07
1286 | FAAET MR (EEBmIARNER 97268
im 0.10 0.09 0.08 0.09 0.08 0.08
. . 50cm 0.09 0.11 0.08 0.08 0.06 0.07
1287 | FAAETH MR [EEEmIAME— R 97288
m 0.10 0.12 0.07 0.08 0.06 0.06
. . 50cm 0.08 0.10 0.08 0.09 0.07 0.07
1288 | EItEET™ INERR AR MILEME /R 9A28H
im 0.08 0.09 0.08 0.08 0.07 0.07
. o . 50cm 0.07 0.05 0.08 0.08 0.06 0.06 o
1280 | AT MR [EEBTIL/URNER 97198 [IEPT] Not275BiB s/ VRS EL 2
1m 0.06 0.05 0.08 0.09 0.06 0.06
50cm 0.08 0.07 0.10 0.06 005 = = 3| T AR A _
1200 | FAAET MR (EEEmIESNER 97208 TR EREERE R
1m 0.08 0.07 0.08 0.06 0.05*
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1m 0.08 0.08 0.07 0.06 0.07 0.05
. . 50cm 0.08 0.08 0.08 0.09 0.07 0.07
1292 | FEAEET gk AT T 3L [T 5 — Rk 9A 288
1m 0.09 0.09 0.09 0.09 0.07 0.07
. . 50cm 0.08 0.09 0.08 0.07 0.06 0.06
1293| FEAEET gk RIHE TS AT 5 = h Ak 98208
1m 0.09 0.09 0.09 0.08 0.06 0.06
. . 50cm 0.07 0.08 0.08 0.07 0.08 0.07
1294 | FEHEET el FEHEETILRETE = hPR 9826H
1m 0.08 0.09 0.08 0.08 0.08 0.07
. . 50cm 0.07 0.08 0.07 0.07 0.07 0.07
1295| FEHEET R FAEE I A # PR 9H28H
1m 0.07 0.08 0.07 0.08 0.07 0.07
. . 50cm 0.08 0.07 0.09 0.08 0.07 0.06
1296 | FHEET el EHEETILESTFR 98198
1m 0.08 0.08 0.09 0.09 0.07 0.06
50cm 0.08 0.09 0.09 0.06 0.06|; = = VR ———
1207 | FAAET EEEn  [ERRRER 9R 138 TR B REERE R
1m 0.08 0.08 0.09 0.05 0.06|%-
o L 50cm 0.09 0.09 0.09 0.09 0.05 0.06
1298 | FEtHET SEFR RETER 9H28H
1m 0.08 0.08 0.09 0.09 0.06 0.06
50cm 0.10 0.12 0.10 0.10 0.10|[ ®BEO ] F11EISAEEMELEELT-
1 0.10 0.12 0.11 0.10 010%1%5%%‘2] Bk E
. " o o " m . . . . . ;‘:E. RE IJ:E
1200| FEARET BEER | INSEEEREEER 9A 268 S ETL TR et -
50cm 0.09 008 N
[RE-BESF] mAlkE
1m 0.09 0.08
. 50cm 0.10 0.10 0.11 0.09 0.08 0.08
1300 | [LEFET RER LEETRERT 98118
1m 0.09 0.10 0.11 0.10 0.08 0.09
50cm 0.08 0.08 0.10 0.10 0.10 0.09
1301| [REFET HHE IEEF T I LB R E 98118
1m 0.07 0.09 0.09 0.09 0.09 0.10
50cm 0.09 0.10 0.09 0.09 0.08 0.08( Ep9 [ RO T KehE-EREZ ] No1303E%
1302 |  [LEFET INERR IREFRT ST IR B/ Ak 98118 S e HOUSIhER
im 0.09 0.10 0.09 0.09 0.08 0.08| T LEF R A
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- a im 0.09 0.10 0.09 0.09 0.08 0.08|FT LA BNERENA
50cm 0.08 0.09 0.10 0.08 007 = . I ———
EE BEEE | SEEREEEESER 9R 118 TR B REERE R
m 0.09 0.09 0.09 0.08 0.07|%+
o 50cm 0.17 0.20 0.08 0.09 0.08 0.10
1305 | A43EAT CELE BETLIELE 8H308
m 0.16 0.18 0.07 0.07 0.08 0.09
50cm 0.08 0.09 0.08 0.09 0.07 0.07|[ IEM Il &RE-BHEZF 1 No.1307#EI/NER.
No.1308#EE 4% L £ R
B ) . m 0.08 0.08 0.09 0.09 0.07 0.07|[ #pE-BERES ] BE1559K
1306 | HAZEHT INERR MR/ 8RB0 T T o T T T T T e -
50cm 007) 008 peps-mpe ] H2u59K
m 006 0.08 |No-1307ABIEAL /N4, No.1308HE S AR & 34
50cm 0.08 0.09 0.09 0.09 0.07 0.07|0 TEF 1L #chz-ERES 1 No.1306ARIERT/NEEHk
No.1308#EE g4k L £ R
B . m 0.08 0.08 0.09 0.09 0.07 0.07|[ #pE-BERES ] BE1559K
1307| 483EHT INEE R R N 2o 8ANE ———A——A—————A—————A—— e e T S -
50cm 007) 008\ peps-mpes ] H2u59F
m 006 0.0 |No- 13064 TR /N4, No.13084E S AR &3¢
50cm 0.08 0.09 0.09 0.11 0.07 0.07|0 TEF [ #BE-EBES 1 No.1306AREERT/NEHk,
No.130748 FE L/ hEAR EH A
1308|  azeEr e s sR 300 m 0.08 0.08 0.09 0.09 0.07 0.07|[ #pE-BEEZ] £1559VF
= (=) o Ak T s —
s e 50cm 0.07 008|[ KE-BHEZ] F2559F
No.130648 ZERG /4R L No.1307HR ZEJL /N & 3
m 0.06 0.08|
) ) 50cm 0.08 0.09 0.09 0.11 0.11 0.11
1309 JIp#t CELE MOILEEE 8H308
m 0.08 0.10 0.08 0.11 0.10 0.12
50cm 0.11 0.12 0.11 0.10 0.08 0.09
1310 JIpast INSRR )1 R ST PR /NS 8H308
m 0.11 0.10 0.11 0.11 0.08 0.09
50cm 0.08 0.10 0.09 0.09 0.10 0.10
1311 JNIAF ekt JURAF IR R 8A30H
m 0.08 0.09 0.08 0.09 0.09 0.10
) 50cm 0.09 0.07 0.08
1312 RIIHET ZELE RITIZCLWAZELE 8H30H iR
m 0.10 0.07 0.08
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1m 0.08 0.08 0.08 BT A B R e A
‘ 50cm 0.08 0.09 0.08 FriRih N -
1314 | RIIHT el SRIIET S A Z B R AR 8A30H [EM I FEO I &E-BEF ] N.1313ET
1m 0.08 0.08 0.08 BT A BIR/NVERR &2 A
50 0.13 0.14 0.11 0.13 0.14 0.15 = "
1315| BEM INGERR BRE/IER 8HA30A - %ﬂf&f;‘giﬁﬂ[%u THRBRE ] sk
1m 0.13 0.14 0.12 0.14 0.14 0.15| T TR
50cm 0.13 0.14 0.11 0.13 0.14 0.15|%%x N
1316| BEH R ERPER 8H30H [EM I RO RE-BEES] NIISER
1m 0.13 0.14 0.12 0.14 0.14 0.15|/hEtR LA
50cm 0.06 0.06 0.07 0.07 0.06 0.05
1317 |  #hthT HREE s EERE 9811
1m 0.07 0.06 0.06 0.06 0.06 0.05
50cm 0.07 0.06 0.06 0.05 0.05 0.05
1318 | FFHhT HREE FERER 9A27H
1m 0.06 0.05 0.07 0.05 0.06 0.04
50cm 0.05 0.05 0.05 0.03 0.05 0.05
1319 | FhHhT HREE EHREREM 9A27H
1m 0.06 0.04 0.05 0.05 0.05 0.05
50cm 0.08 0.08 0.07 0.07 0.05 0.05
1320 | #FHbET INERR i BT ST EY o SR/ N 98118
1m 0.09 0.09 0.06 0.06 0.05 0.05
50cm 0.06 0.06 0.08 0.08 0.06 0.05
1321  $rHHT INERR i BT 3T T /N 9A27H
1m 0.06 0.06 0.08 0.07 0.07 0.05
50cm 0.06 0.06 0.06 0.07 0.06 0.05
1322 | #hHhET INERR i BT 3748 /N 98278
1m 0.07 0.07 0.06 0.06 0.06 0.05
50cm 0.07 0.07 0.08 0.07 0.07 0.06
1323 |  $rHhHT R FHhET 3T 8 F h AR 9H27H
1m 0.07 0.07 0.07 0.07 0.07 0.06
N L 50cm 0.08 0.07 0.07 0.07 0.07 0.05
1324 | iy BEER SR 9827H
1m 0.08 0.08 0.08 0.07 0.07 0.04
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